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Multiple Choice 

Identify the choice that best completes the statement or answers the question.  

 

 1. „ed‟ in cooked pronounced as 

a. /t/ c. /d/ 

b. /It/ d. /Id/ 
 

 

 2. „ed‟ in earned is pronounced as 

a. /d/ c. /Id/ 

b. /t/ d. /It/ 
 

 

 3. „ed‟ in followed pronounced as  

a. /t/ c. /It/ 

b. /d/ d. /Id/ 
 

 

 4. „ed‟ in defended pronounced as 

a. /d/ c. /t/ 

b. /Id/ d. /It/ 
 

 

 5. „s‟ in fixes is pronounced as  

a. /S/ c. /IZ/ 

b. /Z/ d. /IS/ 
 

 

 6. „s‟ in hangs is pronounced as  

a. /S/ c. /IZ/ 

b. /Z/ d. /IS/ 
 

 

 7. „s‟ in works is pronounced as 

a. /S/ c. /IZ/ 

b. /Z/ d. /IS/ 
 

 

 8. The /b/ sound in subway is 

a. voiced b. voiceless 
 

 

 9. The /d/ sound in add is  

a. voiced b. voiceless 
 

 

 10. The // in gel is  



a. voiced  b. voiceless 
 

 

 11. The ......... is a piece of software that interfaces with your PC and allows you, via keyboard commands, to get any 

text information read to you in synthetic speech.  

a. PDAs c. Assistive technology  

b. GPS d. interactive whiteboard 
 

 

 12. A..........., as popularized by virtual reality, lets the user immerse him/herself in a synthetically generated 

environment. 

a. HMD c. DVD 

b. screen reader d. Wi-Fi 
 

 

 13. We are sorry to announce that most flights are delayed or cancelled. This refer to 

a. electronic waste c. technological dependence 

b. cybercrime d. computer addiction 
 

 

 14. He should go to a psychologist. He spends hours surfing the web. This refer to 

a. electronic waste c. technological dependence 

b. computer addiction d. loss of privacy 
 

 

 15. Technology changes so quickly that we have to scrap computers when they become obsolete. This refers to: 

a. electronic waste c. technological dependence 

b. loss of privacy d. cybercrime 
 

 

 16. Accelerate your digital lifestyle by choosing a pentium at 4.3GHz. This refers to: 

a. keyboard c. centeral processing unit 

b. printer d. mouse 
 

 

 17. Right-click to display a context-sensitive menu. This refers to: 

a. monitor c. cpu 

b. webcam d. mouse 
 

 

 18. You will see vivid, detailed images on a 17‟‟display. This refers to : 

a. monitor c. keyboard 

b. cpu d. mouse 
 

 

 19. The CPU will process data asinstructed by the programs you‟re running. ......... includes functions like calculating, 

storing, editing, drawing andsearching. 

a. output c. input 

b. processing d. storage 
 

 

 20. DVDs are expected to replace CDs as ............devices. 

a. output c. input 

b. processing d. storage 
 

 

 21. As a scanner, the Sigma-100 can be used to ......... photographs as well as documents into the computer. 

a. output c. input 

b. processing d. storage 
 

 

 22. A hand-held computer which can be used as a telephone, a web explorer and a personal organizer. 

a. PDA c. wearable computer 

b. mainframe d. notebook 
 

 

 23. A typical computer found in many businesses and popular for home use. 



a. PDA c. mainframe 

b. desktop PC d. wearable computer 
 

 

 24. A large computer used for intensive data processing and often linked to many terminals.  

a. PDA c. wearable computer 

b. desktop PC d. mainframe 
 

 

 25. The green party won the election with an overhelming ........... 

a. overdose c. majority 

b. proportions d. crop 
 

 

 26. He didn‟t realise how strong the tablets were and died of a massive ............  

a. patience c. proportions 

b. fees d. overdose 
 

 

 27. Some lawyers are known to charge astronomical .............. 

a. majority c. overdose 

b. fees d. crop 
 

 

 28. The government didn‟t take action until inflation had reached epic ............... 

a. proportions c. majority 

b. fees d. crop 
 

 

 29. I have a profound admiration for your sister‟s infinite .................. 

a. majority c. amount 

b. overdose d. patience 
 

 

 30. We didn‟t have many plums last year but this year we enjoyed a bumper ..........  

a. majority c. overdose 

b. proportions d. crop 
 

 

 31. Paul doesn‟t really like coffee but I drink a substantial .............. 

a. amount c. crop 

b. fees d. patience 
 

 

 32. there never used to be any nightclubs here but now there are a good ............... 

a. fees c. overdose 

b. patience d. number 
 

 

 33. Dick Whittington (1358-1423) was a famous mayor of London. The story says that Dick was a poor boy who ..... 

to London to become rich. 

a. was coming c. comes 

b. came d. has come 
 

 

 34. Dick ...... his cat with him for company. 

a. was taking c. took 

b. were taking d. taken 
 

 

 35. Life was very hard in London. Dick worked as a servant ......... some months but he got very little money and all he 

had was his cat. 

a. for c. at 

b. during d. in 
 

 

 36. The merchant was very happy with the cat and gave Dick a nice present when he ........ home. 



a. get c. was getting 

b. got d. gotten 
 

 

 37. Dick ........ mayor of London three times. 

a. did become c. did becoming 

b. become d. was becoming 
 

 

 38. the story does not say what ......... to his cat. 

a. happens c. was happening 

b. happened d. did happen 
 

 

 39. It ......... a university since 1088. 

a. was c. have been 

b. is d. has been 
 

 

 40. The oldest university in England, Oxford University, ......... in 1167. 

a. started c. have started 

b. starts d. has started 
 

 

 41. Bologna, in the north of Italy, ....... a beautiful town. 

a. was c. have been 

b. is d. has been 
 

 

 42. Many tourists ......... the university each year. 

a. visited  c. has visited 

b. visit d. have visited 
 

 

 43. The first students at Bologna only ..... law in the past. 

a. studied c. have studied 

b. study d. has studied 
 

 

 44. But now the university ....... over a hundred different types of courses. 

a. taught c. have taugh 

b. teaches d. has taught 
 

 

 45. Bologna ......... “Alma Mater Studiorum”, which means „Dear mother of studies‟ in Latin. 

a. was called c. have been called 

b. is d. has been called 

 



Matching 

 

Match the terms with their definitions. 

 
a. any socket into which a peripheral device may be connected. 

b. device used to produce voice output and play back music. 

c. mechanism that reads and and/or writes to optical discs. 

d. device that converts data so that it can travel over the internet. 
 

 

 46. CD/DVD drive 

 

 47. Speaker 

 

 48. Modem 

 

 49. Port 

 

Match the two parts of these collocations 

 
a. fees 

b. patience 

c. enthusiasm 

d. crop 
 

 

 50. Unbounded 

 

 51. bumper 

 

 52. astronomical 

 

 53. infinite 

 

Match each text 1-5 to a description. 

 
a. a description of change 

b. a book review 

c. directions 

d. criticism 

e. temporary situation 
 

 

 54. You go along this street and you turn left at the end. the shop is on your right.  

 

 55. As oil prices rise, the cost of air travel is increasing. reports show that as a result more and more people are staying 

at home for their holidays and are not travelling abroad.  

 

 56. I am working at the grage until september. 

 

 57. What annoys me about my sister? Well, she is always talking to her friends on the phone! And she is always losing 

things. 

 

 58. I enjoyed this. It‟s about a guy who goes round the world and travels on as many different forms of transportas 

possible. 

 

Match the two parts of these collocations 



 
a. quantity, amount, number, majority 

b. importance, significance 

c. minority, amount, number, quantity 

d. percentage 
 

 

 59. small 

 

 60. large 

 

 61. high, large 

 

 62. great 

 

Match the sentences with the suitable verbs 

 
a. was crying 

b. wasn‟t working 

c. was driving 

d. were waiting 

e. were....watching 
 

 

 63. Max ...... his car to work when it happened. 

 

 64. The baby ..... very loudly, so I couldn‟t hear. 

 

 65. ...... you ..... TV all night? 

 

 66. I couldn‟t call you because ourphone ........ 

 

 67. While we ...... for the bus, it started to rain. 

 

Match the sentences with the suitable verbs 

 
a. were having 

b. weren‟t playing 

c. was ... living 

d. was....dreaming 

e. wasn‟t snowing 
 

 

 68. ... John..... in London when you met him?  

 

 69. My mum and dad .......a coffee in the kitchen. 

 

 70. It ........ but it was very cold. 

 

 71. Did it really happen or ...... I only ........  

 

 72. Glenn and Kirsten ....... in the game last Saturday.  

 

Match the predictions with the appropriate verbs 

 
a. will certainly be 

b. will possibly have 

c. will possibly be 



d. will probably travel 
 

 

 73. There .......... a city on Mars. 

 

 74. People .......through the air and not on roads 

 

 75. There .......... a vaccine for colds. 

 

 76. We ....... all our classes at home.  

 

Match the two parts of these collocations 

 
a. amount 

b. few 

c. quantity 

d. supply 
 

 

 77. fair 

 

 78. endless 

 

 79. inordinate 

 

 80. sheer



1 
 

 

informatics 1 

Answer Section 

 
MULTIPLE CHOICE 

 

 1. ANS: A PTS: 1 

 

 2. ANS: A PTS: 1 

 

 3. ANS: B PTS: 1 

 

 4. ANS: B PTS: 1 

 

 5. ANS: C PTS: 1 

 

 6. ANS: B PTS: 1 

 

 7. ANS: A PTS: 1 

 

 8. ANS: A PTS: 1 

 

 9. ANS: A PTS: 1 

 

 10. ANS: A PTS: 1 

 

 11. ANS: C PTS: 1 

 

 12. ANS: A PTS: 1 

 

 13. ANS: C PTS: 1 

 

 14. ANS: B PTS: 1 

 

 15. ANS: A PTS: 1 

 

 16. ANS: C PTS: 1 

 

 17. ANS: D PTS: 1 

 

 18. ANS: A PTS: 1 

 

 19. ANS: B PTS: 1 

 

 20. ANS: D PTS: 1 

 

 21. ANS: C PTS: 1 

 

 22. ANS: A PTS: 1 

 

 23. ANS: B PTS: 1 

 

 24. ANS: D PTS: 1 

 

 25. ANS: C PTS: 1 

 

 26. ANS: D PTS: 1 

 

 27. ANS: B PTS: 1 

 

 28. ANS: A PTS: 1 

 

 29. ANS: D PTS: 1 

 

 30. ANS: D PTS: 1 

 

 31. ANS: A PTS: 1 

 

 32. ANS: D PTS: 1 

 

 33. ANS: B PTS: 1 

 

 34. ANS: C PTS: 1 

 

 35. ANS: A PTS: 1 

 

 36. ANS: B PTS: 1 

 

 37. ANS: A PTS: 1 

 

 38. ANS: B PTS: 1 

 

 39. ANS: D PTS: 1 

 

 40. ANS: A PTS: 1 

 

 41. ANS: B PTS: 1 

 

 42. ANS: B PTS: 1 

 

 43. ANS: A PTS: 1 
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 44. ANS: B PTS: 1 

 

 45. ANS: D PTS: 1 

 
MATCHING 

 

 46. ANS: C PTS: 1 

 

 47. ANS: B PTS: 1 

 

 48. ANS: D PTS: 1 

 

 49. ANS: A PTS: 1 

 

 50. ANS: C PTS: 1 

 

 51. ANS: D PTS: 1 

 

 52. ANS: A PTS: 1 

 

 53. ANS: B PTS: 1 

 

 54. ANS: C PTS: 1 

 

 55. ANS: A PTS: 1 

 

 56. ANS: E PTS: 1 

 

 57. ANS: D PTS: 1 

 

 58. ANS: B PTS: 1 

 

 59. ANS: C PTS: 1 

 

 60. ANS: A PTS: 1 

 

 61. ANS: D PTS: 1 

 

 62. ANS: B PTS: 1 

 

 63. ANS: C PTS: 1 

 

 64. ANS: A PTS: 1 

 

 65. ANS: E PTS: 1 

 

 66. ANS: B PTS: 1 

 

 67. ANS: D PTS: 1 

 

 68. ANS: C PTS: 1 

 

 69. ANS: A PTS: 1 

 

 70. ANS: E PTS: 1 

 

 71. ANS: D PTS: 1 

 

 72. ANS: B PTS: 1 

 

 73. ANS: C PTS: 1 

 

 74. ANS: D PTS: 1 

 

 75. ANS: A PTS: 1 

 

 76. ANS: B PTS: 1 

 

 77. ANS: B PTS: 1 

 

 78. ANS: D PTS: 1 

 

 79. ANS: A PTS: 1 

 

 80. ANS: C PTS: 1 

 


